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Choose the word or group of words which is most
similar in meaning to the idioms/phrase printed in

bold as used in the sentence:

1. If ajoke fallsflat, nobody thinks itis funny.

(A) fails to stand

(B) fails to realise

(C) fails to maintain

‘(D) fails to produce the intended effect

%‘Ea\w (smallest) JRIFICF 12, 16 @R 36

i ©oist (divide) I LATSIFIT 7 HAXS
(remainder) FCI 2

®B) 137 7 '/
(C) 165 N :{
(D) 135 a4 \ 4
' A
7\ =

Change the voice of the sentence:

3. You need to clean your shoes properly.
(A) You are needed to clean your shoes
properly.
(B) Your shoes are needed to be properly
cleaned.

(C) Your shocs are needed to be cleaned
properly by you.
(D) Yourshoesneedtobe cleaned properly.

?m:' MR A sPS5iem celialifie somEs

(A) PROLOG
(B) CoBoOL.
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(B) fails to realise

(C) fails to maintain

(D) fails to produce the intended effect

2. H7 T Y= gAY (smallest) TENETE 12, 16
36T 9T (divide) TR &Heh 99 (remainder) 7 §5?
(A) 151
(B) 137
(C) 165
(D) 135

- Change the voice of the sentence:

3. You need to clean your shoes properly.

(A) You are needed to clean your shoes
properly.

(B) Your shoes are needed to be properlv
cleaned.

(C) Your shoes are needed to be cleaned
properly by you.

(D) Yourshoesneedtobecieanedproperly.

4. Fafafaaasd g MIHS e s
HERK
(A) PROLOG
(B) COBOL

(C) MACINTOSH

D) FORTRAN
P o



RB/C(M)/2018 (4 ) |
'- s af DRIVER = 12, PEDESTRIAN = 20,

fw DRIVER = 12, PEDESTRIAN = 20.. A cC.IDENT _ 16 3701 9, TH YU CAR =7
- ACCIDENT = 16 2%, ©@ CAR=?

(A) 3

(A) 3 . (B) 6
. © 8

(C) 8 (D) 10

(D) 10

6. ‘hfeer’ % ol TRATY (Unit)?
Ad@»{ I GFF (Unit) ¢ (A) ==gaE (Mass)

(A) ©F (Mass) ' (B) ArqHTAT (Temperature)
(B) ©#¥ial (Temperature) (C) A9 (Heat)

(C) i (Heat)

(D) %™ (Frequency)
(D) ¥4 (Frequency) o

AN

Directions: (Qs 7 to 11): Fill in the blanks with | Directions: (Qs 7 to 11): Fill in the blanks with

appropriate word or preposition. appropriate word or preposition.
7. My sister and are pleased to accept 7. My sister and are pleased to accept
your 1nvitation. - - your invitation. 3
£
(A) 1 A1 E
(B) me - (B) me \
(C) myself " (C) myself -
(0): Lmyselt (D) 1 myself
' N
i . .' _ :
| (ﬂémhm was standing me. 8. Sachin was standing me.
"; (A) aside (A) aside
|
!— (B) ne}.{.t (B) next
| (C) beside (©) beside

| | | (D) besides |
| | (D) besides

|| \97”A thorough search of the aircraf yq; carried I

li in the airport. 9. Athorough search of the aircratt was carried
]\ - (A) out —__1n the airport.
g— .
t (B) off (A) out
| (C) on (B) off
3 | (D) along | (C) on
i (D) along
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. 10. There ____ any message from my friend

since he moved to Delhi.
(A) isn't
(B) wasn't
(C) hasn’t been
(D) haven’t been

11. He shows great ability mathe{natics.
(A) at
(B) of
(C) about
(D) n X

’\—nﬂ?@@ 900 TIFI F© IAF W (interest)
5% QAT 540 DI 8 TRCI T I A

(A) 37 . Fk‘*f |
(B) 4 I%F - %
- () 53=7 L

" (D) 63=A

@@ﬂm Afos o “TEAMWORK®

@41 = ‘NBFUIQNV’ @3k ‘SOME’ (F (T3l -2
‘PTDL’ | & HISos ©iFd ‘PERSON’ (& FlSIF
GRIEIE:

(A) QDOOPT

(B) SFQMNR

(C) QDOMNR

(D) SFQOPT

14. Which one of the following words is
correctly spelt?

(A) Lieutenant
(B) Leftenant
(C) Leftinent
(D) Leitenant
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11. He shows gres ability
(A) at

(B) of
(C) about
(D) in

mathematics.

12. <hfd 9y Hi 900 EUTERI 6% 9= (interest) TR
540 TR 8 TR 5% T T YT TR §5?

(A) 39
(B) 4738
(C) 5ad
(D) 6

13. afs ‘“TEAMWORK’ % FH S
‘NBFUIQNV’ @ifig= i1 ‘SOME 5 ‘PTl_)DL
oifiEs, =@l 9yu ‘PERSON’ e HHU TN

(A) QDOOPT
(B) SFQMNR
(C) QDOMNR
(D) SFQOPT

| . 1S
14. Which one of the following words

correctly spelt?
(A) Lieutenant
(B) Leftenant
(C) Leftinent
(D) Leitenant
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Choose the word or group of words which is most
similar in meaning to the idioms/phrase printed in

bold as used in the sentence:

15. Farmers have cried wolf in the past but this
time, agriculture is in a Crisis.
(A) to listen eagerly
(B) to give false alarm
(C) to turn pale

(D) to keep off starvation

LA AW XGRS, B AW Y - W

AR X8 ‘2’99 @ I Y’ o, o1 Mg @
RRM TR T T

(A) B’ 23 W At O
cl 3 ¢ A S J\- ol
B) B zem A-a® L KX 1

(C) ‘Y, ‘X =9z-9[q
(D) ‘B’-3 G T Witz

Out of the four alternatives suggested, select the
one which best expresses the same sentence in
indirect speech:

17. I said to him, “Why are you working so
hard?”

(A) I asked him why he was working so
hard.

(B) I asked him why was he working so
hard.

(C) Iasked him why he had been workin g
so hard. |

(D) I asked him why had he been working
so hard.

OB’ ATFI (ST = ?
(A) 2] (Literature)
(B) IGEanie 3171% (Science&Technology)
(C)_ARTTT ABOTS! (Environmeng

- —
awareness)

(D) Gre 9w (Water conservation)

Choose the word or group of words which is most
cimilar in meaning to the idioms/phrase printed in

bold as used in the sentence:

15. Farmers have cried wolf in the past but this
time, agriculture is in a Crisis.
(A) to listen eagerly
(B) to give false alarm

(C) to turn pale
(D) to keep off starvation

16. ‘A’ Ife <X SiEmEn ‘B’ Afg Y’ hISTHIT X
17 FERA Y’ B WA, I STl 7 HWidHh Bl ?
(A) ‘B’, ‘Z’ &l ™I
(B) ‘B’, ‘A’ &I &
(C) “Y’, ‘X’ = B
(D) ‘B’ ol & B ©

Out of the four alternatives suggested, select the

one which best expresses the same sentence in
indirect speech:
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Change the voice of the sentence:

19. Darjeeling grows tca. 3
(A) Teais grown 1n Darjeelmg.. |
(B) Let the tea be grown in Da'r]ee.lmg.
(C) Tea is being grown in Darjeeling.
(D) Tea grows In Darjeeling.

Ao./wwﬂ% @ e TR ARG TV
FAGE QR FOUT JAR 2 o

(A) SFHAW

(B) ©& A

© S
(D) “Aos%x

\ﬁtﬁﬁrﬁ'ﬁ%ﬁ (series) 9% OrFd I SR |
@13 TS 217 A7 A |

Y o ¥ oy N gy '
LXxT ¥X T Y XY o

XXY |
(A) XXXYY
(B) YXYXY

O YYXXY

(D) YYYXX

22, SIRIOIEA (P ey TS 2o FoFq
% (Vermin) IC1 (IR FCACR?

(A) FoF
(B) T2ioet
(C) 9=l
-

(D) AEF “?@
\Aﬂﬁcﬁl 3 3 ;. >
4 / C ( \) | &2
-!.+_1_. " _1__1 = 8—-<5-1—— 3_21 ﬁ(/b'

o\ 1 e z=
5 2+ ..'3137 - ,1.‘,'
1 9 2 Tk 9
B) 7= &\ “e
6 L
s S v o
NeJ 62 TF 2=
1 ut
D) 6-—
(D) 66 -
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20. TRTH 7 T ‘w7 GrEaeis o 9y 9=
oIfqu&d Hq?

(A) 3TmIey

21, T TSWshT Syofan (series) hel 37&R TUTH 9,
ﬁ#\mﬁﬁamm : |

XX YX YY XY

XXY
(A) XXXYY
(B) YXYXY
(C) YYXXY
(D) YYYXX

22. YRAGYHAT 1 TSl Bl STelely  &ffd
(Vermin) T+ Y] =fHd TEH B2

(A) FATEH .
(B) TeHT=eT U<l

e
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RB/C(M)/2018 (8)
' . of the sentence
Change the voice of the Sentence Chang€ the voic€ O,If o was _eading out the
~ 24. The ‘invigilator was read: 24, The inViE! a
Instructions. Ing oyt the instructions- ~tions Were being read out
instru
(A) The 1nstructions ' (A) The m_ joilator. |
by the invigilator?”ere being read out by th? livf;ltions were read by the
(B) The iI]Stl'llCtiOHS Were read the (B) The -llniorr .
invigilsioe ad by mV1gl a (;tionS had been read by the
(C) The instructions had been read by the (©) :I‘h? 1_1;;?(‘)1; |
. 1 ‘
invigilator mVIg. ctions had been read out by
(D) The instructions had been t b - (D) The mS:tr}l
tead out DY the invigilator.

the invigilator.

xzs./z%;aw BT 4032 9G3% wigr o, 7L .

(HCF) == 12, sz &1, o1, o, (LCM) 39 ?

[A97 336 { =3k
(B) 363 Mff

(©) 301

(D) 331

25, Tger HEATan ol 4032 T7Er] (HCF) 12

7 8 e ] (LCM) Hid §97
(A) 336
(B) 363
' (C) 301
(D) 331
26. | | - >

7|

NEE

(A)

(B)

(€)
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(9)

28, G B 5 TG wrgg <praey sl fozet AN
s < G e 2o | @2 (e ! T
4 G 49 CTEFS & #f=1517 45 (otsierfa wefet |0

5 GRS 1156 T (& Glba ﬁﬁo‘@ﬁ@\‘a{?ﬂ .
;k =

(A) 30 TH/CTFS 7y
(B) 40 /(TS ﬁ
(C) 44 To/CTT
(D) 64 Tb/GTTS

Choose the word or group of words which is most

similar in meaning to the idioms/phrase printed in
bold as used in the sentence:

9. /The doctor said that the patient has turned
corner. ' -

(A) that the patient has crossed the corner.
(B) that he is in a serious condition.»

(C) that the patient is out of danger.

(D) that the patient has been turned over
for autopsy. '

N30, (I B 12% %51 63 511 | 63 B0 40%

Wﬁﬁm? 0. » ! ./-3/247@’@“ , -
(A) 230 r 3?5/’”
(B) 210 Gi<l
) 2005=
(D) 190 OI<Fl

.,3143@ Seyory fNEa @i 4ielvd (Metal) RIS
=T 1 7

(A) S (Copper)

(B) @&& (Bronze)

(C) =t (Silver)

(D) ¢e1i& (Iron)
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Hﬁémﬁmﬁﬁﬁﬁ%ﬁm@aﬂw
4W49mﬁmﬂfnanmﬁn$§

do, 1156 fit. wu, et wify w5fy fopaipy

(A) 30 2/ HhUg
(B) 40 PR EN
(C) 44 %o/ dFve
(D) 64 ®ederus

Choose the word or group of words which is most
similar in meaning to the idioms/phrase printed in
bold as used in the sentence:

29. The doctor said that the patient has turned
the corner. |

(A) that the patient has crossed the corner.
(B) that he is in a serious condition.

(C) that the patient 1s out of danger.

(D) that the patieht has been turned over
for autopsy.

30. T ERETH 12% a6 To 63 9T | 7 TR
40% hid 7

(A) 230 &0
(B) 210 &=
(C) 200 B
(D) 190 &

(A) T (Copper) &,
~(B) diae (Bronie): |

(C)" =f% (Silver)

(D) e (Iron)

nnnnnn d by CamScanner
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%m%m:ﬁm (I AT (amendment)
NI COOEHIET 7997 21 997 (2= 18 g #41

QR ?
(A) 42y
(B) 44 oy
(C) 61 @y

e
(D) 7393

/33./1%('3@' RIEGEERTE
(chronologically) i ¢

(D) FoA ST (Swadeshi movement)
(I)  14=T1% SN (o1 (Khilafat movement)
(1II) (RINFT STHIEH (Home Rule movement)
(IV) WET Wiy wgerew (Civil

Disobedience movement)
(A 1L I, TV, 1
(B) I, IIL II. IV
© OLILLIV
(D) IV, I, II, III

oAl

*\gs./ AP G 72 T4 T OIS e i e | 3
\C ﬁ@%ﬁﬁmfcostpﬁce)wmww
20% =TT 27, or1 2ifS @51 fifdre yes v we ey s

(A) —é—%ﬁa (o ’;w
5

1

(B) -6131314
—

(C) %1%13‘1?1

1
(D) Z—Oﬁﬁm

\%ﬁcwe@@wﬁwmmﬁm:m

L

2T 30% S O 70 40% IS SO G ey
Z 3200 51! | (O 5T CSIIFS T Fwese) o

(A) 209 it ]
SR
(C) A AL
(D) ST PR

70
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33, Fraferfad ST=IeT T T SR

(chronologically) gqell3: '
(I) el 3T=le (Swadeshi movement)

(1) faemd e (Khilafat movement)

(II) e er<ier (Home Rule movement)
(IV) &1 AHTA  SATKITH  (Civil
Disobedience movement)
(A) II, III, IV, 1
(B) L IIL II, IV
©) IIL IL 1, IV
(D) IV, I, 11, III

34. TSI Al 34 ToFR It fiysmor ) afe |
$¥, < o (cost price) HT = foehl T @ 20%
Y 9T, I Tilo ST i qrtey sy fer)?

) 5 fe

(B) éfﬂa
(C) —;-faa

(D) —2-16%@

nnnnnnnnnnnnnnnnnnn



%Waﬁz@@ﬁ ERICACIRDS

o

G OOF 01 8-5 (FAPS M (slow) del R
Towd S GE Al OO TR 51 CIIS T
(fast) 5T | (5T, Tof 48 IB1H WfETHre AfSE 37

o741 AT | 48 T FOHA G GE? o

(A) 169% G _{ff
\B) 18 9D “95 . 253
C) 20<%! >
((D; 22 9B} L f{’/%" e
3 / ﬂ706,
{@h{ [}‘é v T
_ 9
) |
. Haemoglobin : Iron : : Chlorophyll : ?
(A) Copper
(B) Magnesium
TR it s SIS
(C) Cobalt | |

_ (D) Calcium

ML e T q@f"‘ -ﬁ"l-b

vXT P

\ 0 (T @G AR e sl

31 ]
l':'LO/ r?_ 50° \/:15’ 629’ (08)
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38. Haemoglobin : Iron : : Chlorophyll : ?
(A) Copper
(B) Magnesium
(C) Cobalt
(D) Calcium

39. HEHI T9I1S
-53%, J49, 629, (08)

50
31
(B) 49, (08), 629, 5

31
(C) (0-8)2, 629, %o J49

(A) 33, J49, 629, (0-8)2

0629, 3L 49, (08)
Latest Sarkari Jobs, Govt Exam RBSUHIS 5 O
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%ﬁﬂ‘ﬁﬁ@ (Rahi Sarnobat) (I (eI A
& ?

t the

Out of the four alternatives suggested, select 1
e in

one which best expresses the same senienc
indirect speech:
41. Thepeonsaidto his officer; “Please forgive

bk

me’. h

(A) The peon requested his officer that he
forgive him. |

(B) The peon requested his officer 10

forgive him.
(C) The peon <aid to his officer that he

should fofgive him.
(D) The peon told his officer to please

forgive him.

)

w %e" (Philosopher’s Wool) FICP
¢

(A) forz e
B) Torz SR
©) Tow =ds
(D) f&& @mize

\AJ-/‘WW"IHQST‘?I’ (I (4TI Y TG ¢
(A) (it

Latest Sarkari Jobs, Govt Exam Results,
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40. TEl gdare (Rahi Sarnobat) &1 A 91 g
=Y ..
T (p) AT
B) UF
(€) AR |
(D) &F

- forgive him. _ ,
(C) The peon <aid to his officer that he

should forgive him.
(f)) The peon told his officer to please

forgive him.

42. ' THifHehl el (Philosopher’s Wool) FTllR

(A) TS FeTeS

B) fSiw ormgs
(C) TS Eee

(D) TS IHES

nnnnnn d by CamScanner
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out of the four alternatives, choose the one which
can be substituted for the given words/sentence.

Mcapable of making errors
(A) Infallible

(B) Incorrigible

C) Imreparable

(D) Erroneous

WW(?)WWWQWW?
3, 7, 23, 95, ?
(A) 62 - 0)57 A
(B) 128 /‘i;_, q
s 479 T
(D) 575

46. ‘Freedom behind bars’ <19 (11 ?
A) R=d @@ |
(B) (AT« IS
(C) A SER™ (T
(D) 12 W

Directions: (Qs 47 to 51): Read each sentence 10

findout whether thereis any grammatical errorinit
The error, if any, will be in one part of the sentence.

The number of that part is the answer. If there is no
error, the answer is (4). (1gnore missing punctuations,

(3) /No error (4).
(A) 1
(B) 2
(C) 3
(D) 4

Latest Sarkari Jobs, Govt Exam Results, m
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(B) 128
(C) 479
(D) 575

46. ‘Freedom behind bars’ et TEehi 7
(A) T afg
(B) T&THA A
(C) HH 3fa< =y

(D) W@ 3Tegeet

Directions: (Qs 47 to 51): Read each sentence 10

find outwhether thereisany grammatical error init.
The error, if any, will be inone part of the sentence.

The number of that part i3 the answer. If there S no
error, the answeris(4).(1gnore missing punctuations,

if any)

47. Some witness <aid the grenade

(1) / from a motorcycl
‘was lobbed at the chec
(3) / No error (4):

(A) 1

(B) 2

(C) 3

(D) 4
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48. Consumers are set to be spoilt for choice
(1) / as smartphone maker compete with one
another (2) / with flagship launches at attractive
prices. (3) / No error (4).

(A) 1
(B) 2
(€) 3
(D) 4

49. Monsoon this yearis expected (1) /to arrive
on the Indian mainland (2) / five days later than the

normal date. (3) / No error (4).
(A) 1
' (B) 2
(C) 3
(D) 4

50. Talking about his Padma Shri award, the
actor said (1) / he didn’t want to accept it as there
were people (2) / in the industry who deserve it
more than him (3) / No error (4).

(A) 1 '
(B) 2

C) 3

(D) 4

S1. The police team patrolling the area (1)/
took the victim to hospital (2) / where he was
declare brought dead. (3) / No error 4).

(A) 1 |
(B) 2
(C) 3
(D) 4

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

(14)

48. Consumers are set to be spoilt for chojc,
(1) / as smartphone maker compete with o,
another (2) / with flagship launches at attractjy,

prices. (3) / No error (4).
(A) 1
(B) 2
© 3
(D) 4

49. Monsoon this yearis expected (1) /toarrive
on the Indian mainland (2) / five days later than the
normal date. (3) / No error (4).

a1
(B) 2
(C) 3
(D) 4

50. Talking about his Padma Shri1 award, the
actor said (1) / he didn’t want to accept it as there
were people (2) / in the industry who deserve it

more than him (3) / No error (4).
(A) 1
(B) 2
(C) 3
(D) 4

S1. The police team patrolling the area (1)/
took the victim to hospital (2) / where he was
declare brought dead. (3) / No error (4).

(A) 1
(B) 2
(C) 3
(D) 4




Choose the word or group of words which is most
similar in meaning to the idioms/phrase printed in
bold as used in the sentence:

55. She paid a flying visit to Mumbai to see her

ailing father. .
(A) a surprise visit
(B) a very short visit
(C) a {fery long visit
(D) went by aeroplane

T

RB/C(M)/2018

Choose the word or group of words which is most
similar in meaning to the idioms/phrase printed in
bold as used in the sentence:

55. She paid aflying visit to Mumbai to see her
ailing father.
(A) a surprise Visit
(B) a very short visit
(C) avery long visit
(D) went by aeroplane
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RB/C(M)/2015 (16) |
| four alternatives, choose the one which

Out of the four alternatives, choose the one which Out of the d for the given words/sentence.

- - ubstitute
can be substituted for the given words/sentence, can be s |
I‘ 57, That which 1S

57. That which is “Unclear’ (A) Doubtless

(A) Doubtless | T
(B) Uncertain B ' (B) Uncertain

1al
(C) Controversial (g)) iillz;zzfsla
(D) Ambiguous (

“Unclear”

da University)
- ey fereafermer™ (Nalan
~ el Fi@vrie (Nalanda University) @19 ?f[s 8. ¢ e AT et Tor?

eI o TR
< (A) 9gH I
(A) AL DHBY -
(B) o2 FuAY . (B) o T
) (C): §<TH
(C) Tued )
(D) FWoY (D) #=<I¥
59. Which oﬁe of the following words 1s 59. Which one of the following words 1s
correctly spelt? correctly spelt?
1 (A) Mandatary (A) Mandatary
- (B) Circulatary ~ (B) Circulatary
| ‘ | (C) Temporary (C) Temporary
. (D) Regulatary (D) Regulatary
i T 2y = 122
| o0 1P T 60. ToaTg R
' 3 B~ 11
5 _I_m. 1 » ..f).—__ \ /{r _ 3 _—-'-—__T—_—
5 I q L S+ -
15 s 1
J+=" <O ne d —
* KX | 1+~1—
2\
) ¢ “7‘\
: (A) '5— ﬂ?q’ “ﬁ ’ (A) )
- 9 5 - ‘l}\ 3/ d
) 0 " \° B) 2
C —
7 <
(D) 3 ) 7
3
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| 61
S o e e 10% 9 S S TR oy gy
12%-43 AN AR RFE=ma 16% T 18% Ejlz% E“““Wlﬁmgm{% 16

47 (A 6 Bl @A =@ ey R © %Wﬁmqﬁmaﬁw%““““@’

T T 7 Hfg? ' 19569 T g
(A) 600 T8, 500 Bl (A) 600 ®firs;, 50, s
(B) 40051, 300 Bi=rl B) 400 e, 300 i
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